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DIPLOMA ENGINEERING — SEMESTER —I11* EXAMINATION - SUMMER - 2017

Subject Code: 330601
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Subject Name: SURVEYING - |

Time: 02:30 PM TO 05:00 PM
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Explain basic Principles of surveying. And construct a scale having
R.F.=1/200 and show on it 32 m. distance.

UABIL ol YN d Raicdl AU Wl R.F. = 1/200 A A loilcll

WA Aell U 32 HleR. vidR sldldl.

Explain
1. Indirect Ranging with sketch.
2. Magnetic Declination

Al
1. URlEL ARWEL 33U AL,
2. Jotsla Elsuld

A 20 m chain was found to be 20 cm too long at the beginning and 20cm too
short after measuring distance of 930 m. Chain was found 50cm too short
after measuring another distance of 870 m. Calculate correct distance
measured.

20 Hl uisn siHoll a3uidHl 20 AL cioll ocll ual 930 HleR didR
iyl ugdl 20cm 81 ostal Holl ecl. dan ofley 870 HleR sidr Hiul

uedl Aot 50cm &Sl lal Hofl ecdl. A WRWR BdRell a3l s
Draw neat sketch of prismatic compass and State the functions of major parts.
gl €131 QrARs SuUldtell Yy ol sial U,

OR
i. Convert 340° 15’ in to R.B. and N 25° 45°W in to WCB
ii. Bearing of line OP and OR is 82° 20’ and 50° 30’ respectively,

calculate angle POR
iii. Calculate interior angle ABC from the following data.

Line FB
AB 126° 15°
BC 86° 15’

i. 340°15' ol s A0l M Aol N 25°45°W ol WCB Ml 3Rl
ii. WL OP sl OR oll ARdL AafsA 82°20° Al 50°30° B,
vl POR 2Lal.
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jii. o{lAoll MRl Yoyt Bict:510L ABC 230,

Line FB
AB 126° 15°
BC 86° 15°

The following consecutive readings were taken on a continuously sloping
ground from point A to B at a common interval of 30 m with 4 m leveling
staff. (A)0.585, 0.95, 1.95, 2.845, 3.645, 3.940, 0.965, 1.035, 1.690, 2.535,
3.845, 0.955, 1.580 and (B)3.015.

The R.L. of point A was 100.0 m. Rule out page of level book and calculate
R.L. of all points by H I method. Apply usual checks and determine the
gradient of a line AB.

At alacofl wllet uR 30l AHAAR A ol B (g Yl o{lAsl

cdiUd AdA WA 4 Hl2R @ls U AclHl Bl &dll.

(A)0.585, 0.95, 1.95, 2.845, 3.645, 3.940, 0.965, 1.035, 1.690, 2.535, 3.845,
0.955, 1.580 and (B)3.015.

A (g ol wRA 1000422 B Add o5 of Ulg] setlcdll situl
W&oz of WR.AA H I ol Acdedl ol As $A. Wal WAL AB oll 3L
el

i) Define contour
ii) Draw contour lines representing Hill and steep sloping ground
iii) Enlist uses of contour map.

i) AHRAU L ofl catvl Gl
) Bt wal Qe ato aofl arllet 1@ AN vl €13

1) AHRRL UL at$2l oll GUAL AW

OR
Following readings are taken with a level & 4.0m leveling staff on Sloping
ground. 1.135, 0.345, 1.265, 2.460, 3.675, 0.220, 1.105, 1.890, 2.885, 0.105,
2.435 & 3.075. The first reading was taken on BM having RL 50.0. Find the
RL of points by rise & fall method. Give arithmetic check.

alacloll sl uR o{lAetl cidet Aaet ual 4 HleR w2Us UA AcuHi
Al &cll. 1.135, 0.345, 1.265, 2.460, 3.675, 0.220, 1.105, 1.890, 2.885,
0.105, 2.435 & 3.075. Yy 3slol BM GUR AallMi #UAA Bof RL 50.0
Ul 8. dul WSoe of AR.AC GalR-uslal ofl el ol As s

Explain the Temporary adjustment of dumpy level.
srdl Aad olt gouHl UMDt AHAA.

Following bearings were observed while running a closed traverse. Correct
the bearing for local attraction and calculate included angles.

Line Fore Bearing Back Bearing
PQ 68° 248°
QR 130° 312°
RS 2520 70°
SP 3440 164°

o{lActl AR oltl HIARWRL HIZ AclHl AAd B. UlSs wusH
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Q5 (a

us.u A

(b)

Q5 (a
us.u A

(b)

tllotil A8 AU ARDL 2 vruA ol a3l sA.

Line Fore Bearing Back Bearing
PQ 68° 248°
QR 130° 3120

RS 2520 700

SP 3440 164°

Classify errors in leveling and explain in brief.
AU A0 adl A of aollswl 531 ALl Ut

OR
Define the terms:
(1) Change point (i) Bench mark (i) Axis of telescope
(iv) Reduced level v) Back sight  vi) Fore sight  vii) contour Interval
cluAl UL,

(i) B oled (Blg () dc@os (iii) QAU W&t (iv) uRel Gue )
ysall AUAEAlSet vi) WAL MAASa vii) AHRU UL BldR.

Explain the methods of Interpolation and characteristics of contours.
ABNAU U YAURL{l Uug(AQl Al ABNU Juiletl Aol AHstAl.

Explain orientation in Plane Table Survey? Explain orientation procedure of
plane table by back sighting.

WQol 26l AUl (B srelluct yHoal? As ws2lol Il Al (& sraustell

(Bl unesnAl.

i) State uses of theodolite.
ii) List methods of Plane Table Survey and explain any one in detail.

i) Q0SS ol Guallol Ul
i) ot 2ucd Udoll Al a€l cottcl slyual As (Aoidar

sl

OR
State advantages & disadvantages of Plane Table Survey.

ol WA U oll GLEL W ARSLRAEL R

State the functions of following.
1. Clipscrew 2. Telescope 3. Shifting head 4. Lower plate screw.
5. Vertical circle 6. U fork 7. Alidade

ol Aatl stAl cvll.
LeAU  22Awu 3R ol 4 AR WAe .
5 cdl@sd ada 6.3 515 ol 7. Ac3s.
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